Identification strategy (Cochrane, 2005)
1. Consider carefully what controls should and should not be in the regression. You do not want to include all the “determinants” of y on the RHS. 
a. High R2 is usually bad- it means you ran left shoes = alpha + bheta*right shoes + gamma*price + error. Right shoes should not be a control!"
b. Do not run a regression like wage = a + b education + c industry + error. Of course adding industry helps to raise the R2, and industry is an important other determinant of wage ( it is in the error term if you do not include it a regressor). But the whole point of getting an education is to move to better industries, not to move from assistant burger-flipper to chief burger-flipper.

In a given month, BOD5/STD (AL INCLUIR STD PIERDO 5 PLANTAS QUE INFILTRAN!!! A LAS CURTIEMBRES Y LAVADEROS SIN STDS DURANTE UN TIEMPO LES PONGO NA (DE LA MISMA FORMA QUE SAQUÉ 5 PLANTAS) is given by:

a. The cost of abatement: if random effects, sector dummy (to difference abatement costs between products) + or * labor (to difference levels of production). If FE effects, it’s all in the firm-specific effect. I may include price of energy + price of some chemicals used in effluent treatment (polielectrolito and alumina (sulfato de aluminio)).
The mean of the violation as a percentage of the emissions standard (BOD5/STD) by sector is
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TEXTILE includes WOOL WASHERS, which are the biggest polluters in terms of BOD. Their mean violation is low though because they have the laxest standards. We must run a regression with BOD5 as a dependent variable (or violation w.r.t. the original standards) anyway to see how this changes. Saco METAL de las dummies. Y otra más porque METAL hay una sola y si saco solo METAL me da singular matrix.
Labor was included because it is a net input into production and not into emissions abatement. In fact, it has little correlation with bod5 across plants and time. The correlation coefficient is 0.0255. Important variable inputs into abatement are energy and some chemicals use to treat effluents. The correlation coefficient of bod5 with water is 0.08, energy is 0.16. 
b. Past enforcement actions of all enforcers: Its effects are included in the lagged pollution (next explanatory variable (see point c)). The other effect of past enforcement actions on present levels of emissions are captured by the expected fine (see point d).
c. Lagged pollution variable
d. Expected future enforcement actions:
i. hay una decisión DESPUÉS que depende si lo inspeccionan o no. “Test” de la existencia de under-reporting. I include INSP in that month (one for each agency (it is difficult for MUN and NAT to know what plants the other inspected in the same month). MUN though, supposedly “knew” if the plant was going to be inspected by SEINCO. But I try. Maybe it needs some discussion among us.
ii. Probabilities: they are like conditional expectations. The right thing. Esto es si tomara la decisión de cuanto contaminar ANTES de saber si lo inspeccionan. Esto es verdad en parte, porque ya decidió más o menos, en función de los precios, etc. cuánto va a producir. Por esto tendría que incluir precio de insumos (de producción) y precio final del bien. Pero teniendo LABOR como Proxy de Q, LABOR me capta esto. También hay un componente de BOD5 que decide ANTES en función de la probabilidad que percibe de ser inspeccionado. Por lo que tendría que ir E(fine)=Condicional expectation = fitted value de fine dado present inspections, past, etc. Aunque puedo probar, y quizás sea mejor, tambien con las expected inspections fitted (PINSPS como estaban) ya que sino hago de las multas el único mecanismo de enforcement válido y sin embargo hubo otros que no tengo info (cierres) y hay otro fuera de esta teoría (a través de los ingenieros encargados de las plantas) que no dejo afuera si pongo expected inspection como indicador de todas estas futuras posibles medidas. Con expected insp SEINCO tengo que ver si la incluyo (su mecanismo es a traves de imm). Digo que si pero tendría que instrumentalizarla (¿estoy a salvo si es fitted?)
iii. Endogeneity test. If not: insp. If endogenous: 2SLS (bien, contra todos los instrumentos: los determinantes de INSP en la inspection equation y las demás variables en la BOD equation)

iv. Multicollinearity between INSPS and PINSPs???
e. If you are an exporter: The foreign market may demand less pollution. 
f. Other idiosyncratic characteristics of the firm owner: that is why we include firm-specific effects
g. Dilution?? (flow???)
h. During the 761 Plan: This affected not only the probability of being inspected but also the result of an inspection. Plants knew that hey had laxer standards and they were not going to be fined during theses months. Maybe I should interact this variable with PINSP. The There was not really a DURINGPLAN period as originally thought by the MUN. We really have three periods: (a) DURINGPLAN without SEINCO, (b) DURINGPLAN with SEINCO and (c) AFTER THE PLAN with SEINCO. During (a)  the MUN had to take care of the Monitoring Program so it went out to inspect besides it was not originally the plan. In (b) SEINCO appeared and in (c) the plan ended 
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2. What economic mechanism caused the dispersion of our right hand side variables?

a. Labor
:

i. Q <= expectations for demand for Q

ii. Wage <= unemployment (efficiency wages)
3. Describe what the economic mechanism constitutes the error term. What things other than your right hand side variables cause variation in the left hand side variable

� General comments for inputs: obviously the Labor is an implicit function of Energy and Pollution, and vice versa, for example, because you need more energy to help your workers to see and work, you need less labor if you are going to pollute more. Also, you need more workers if you are going to demand more energy and less pollution. But this mulricollinearity is an unavoidable, natural problem and therefore I do not include insputs as determinants of inputs.
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